@ a+c @ a-b? ® a®-b>+ 2

@a2+b2+c2 ® a®+b* -

a® — a®b + ab® + ac® - b® — bc?

=a®-b*+ (a-b)c? —ab(a-b)

= (a-b)(a® + ab + b?) + (a - b)c* — ab(a - b)
= (a-b)(a* + ab + b + ¢ — ab)
=(a—=b)(a®+b*+c?)




2. xOf ek oF A w3 - 2x% — x4+ 27} (x +a)(x +b)(x+¢) 2 A+ES]
A, a® 4 b + 29 2?7 (H, a,b,c=A)

s OF ® 7 @ 8 ® 9

B2 —x+2=(x+1)(x-1)(x-2)
A2+ +c2=(-1)2+124+22=6




3.

oAty =ax® +bx-3 2 x=2¢
a4 b0 FHET (F a,b =A%)

® 2 @ 4 (@)6

~&B

y=ax®>+bx-3=a(x-2)%+5
=ax? —4dax+4a+ 50| B2
b=-4a, —3=4a+5

FAS Aot EHa=-2, b=38
La+b=6




o|aFg f(x) = ax® 4+ bx + ¢ 7} f(1)

= f(3) = 8017 %3 58

7Hd o, &4 a,b,coll Hste] a + b + ¢ 9] = F5HA?
o @7 3)s ® 9 ® 10
WAH O] 77T (2, 5)0|BE

o|AT4LE f(x) = a(x-2)2 45 2kl T 4= Qlh,

f(3) =8°IE& x=3,y =82 HfUtd

a+5=8 . a=3°E=
f(x)=3(x-2)2+5=3x2-12x+ 17

La+b+c=8




5. A gdANA=x2+3x-2 B=3x2-2x+1,C=4x2+2x-3 9|
tfj 5o
3A - {5A — (3B - 4C)} + 2B & 7tHs| 51?2
@ 3x2+12x-13 @ -3x%2+24x+21
® 3x2-12x+21 C@)—sz —24x+ 21

® x24+12x+11

B ~
34— (5A — (3B — 4C)) + 2B

=-2A+4+5B-4C

=-2(x2+3x-2) +53x% - 2x + 1) —4(4x% + 2x - 3)

= -3x% - 24x + 21
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(x-1D(x=-2)(x=-3)+alx-1)(x=2)+b(x-1)+¢

B4+1
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x=19,2=¢-----
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x:2??] EH,9:b+C
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~a+b+c=15




7. UFABtax’ +bxtcEx+22 HRH30 HAL 2 - 12 EH
ol of w, abe 9] gt& F-oH?

c} -
=

[ 2
[ =

B ~
X3 +ax’ +bx+c=(x+2)0yx)+3
= (x+ 1)(r— 1)@z

f(=2)=3 f(1)=0 f(-1)=0

x=-2%Y, 8+4a—-2b+c=3

x=-1%%Y, -1+a-b+c=0

x=19%Y, 14+a+b+c=0

FRECTERESE

a=3,b=-1,c=-3

. abc =9




8. 100709 tFabA] w2 —x—1, x2—=x=2, -+, x2—x—100 =l A A7t
ool AaAe] o ASHARHE AL BE B el7}

® 574 @ 774 @97H @ 117 ® 1371

x> —-x-n=(x+a)(x-b) (a, b = ZA) 2t oIH
b=a+1,ab=n(1<n<100)

a 12345 6 7 8 9

b 2345 6 7 8 910

n=ab | 2 612 20 30 42 56 72 90




@ x24+x+1 @ x2-x+1

@ x2+ V3x-1 ® x*-1

@x2+ V3x+1

(
(

= (22 + D{(x® + 1)% - 3x?}
(

=2+ 1)(x* - V3x+1)(x2 + V3x+1)
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(a=b)(b-c)(c—a)
(c = b)a® - (¢* = b*)a+ bc(c - b)

a*(c=b)+b*(a-c)+c*(b-a)

0
AR




11. A= aE Al A5 x, y, zol tiske] x® +y3 + 22 = 3xyz & WSS 1,
x+y+2z9 @22

@o @ 1 ® 2 @ 3 ® 4

¥+ + 22 - 3xyz
=x+y+2)@P+y*+22-xy-yz—zx) =0
(x+y+2)=0FE=2+y’+22-xy—-yz—-2x=0

1
Cxty+z=0Ex S{x-y)?+ (-2 + (-0 =0
J8G x, y, 7V AR HGE A AF(x2y£2) O|BEZ
x+y+z=0




AL N =35%+3-352+3-35+ 1 9 o] oF9] 74

(T4 = ol 85to] FAIL)

B 4l

ol

a®+3d®>+3a+1=(a+1)3
N=35%+3.3524+3-35+1
= (35+1)% =363 =26 x 36
LR e = (6+1)x (6+1) =49
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13. x=1001Q ) 2" TX 7 o) zro S15toda),
X = Bttt U= o]'o:]

=
H -

>
> =D 1000

B

-t a2-1 (x* +1)(x®-1)
Prdtxrl (At )(x+1)
=x-1
=1001 -1
= 1000




14. A x, y7hxy =6, ¥y +xy? + x +y = 632 WZAZ o, x2 4 y?
o] ko7
1173

o1 o= 05 @ o

B ~

2y+x?+x+y
=xy(x+y)+(x+y)
= (xy+1(x+y)
=T7(x+y) =63,
x+y=9,xy=6
2, 2 2
x+y° = (x+y)° - 2xy
=81-12 =69




ThS = thghalo] & A7} ofd mf, AH 0] BE 2] 3o

H {

¥ -2x2-5x+6, x*-3x+a

®-10 ©@-s ® -5 @ 0

~&B

X% —2x2 - 5x + 62 ZHAH LR ALE |5
(x=1)(x+2)(x-3)

717} 8] 7ol tisf Y] A2 E o]&
i)x=1= 1-3+a=0,a=2
)x=2 = 44+6+a=0, a=-10
)x=3 = 9-9+a=0,a=0
a9l¥: 2+ (-10) + 0= -8
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16. AFRHA] ol - 44 — 12 B Bado] WSlolA A5 Ralste?

@ (x4 V3)(x = V3)(x + V2i)(x - V2i)
@ (x+ V6)(x— V6)(x + 2i)(x — 2i)
@) (x+ VB)(x = VB)(x + V2i)(x— V2i)
(x 4+ V3)(x = V3)(x + 2i)(x - 2i)
( )(x = V2)(

@
® (x4 V2)(x— V2)(x + V6i)(x — V6i)

B

xt—4x?-12, x* =Y 2 S5HA}
= Y2-4Y-12=(Y+2)(Y-6)=0
Y=-"2E=Y=6

= xX=-2, x*=6
= x:i\/ﬁi, xzi\/g
soxt—4x? - 12

= (x+ V6)(x — V6)(x + V2i)(x - V2i)




17, (x+1)(x+2)(x+3)(x+4) —k7}F o]x}A] o] A FA o2 <l
g o, A ko] g& Ashd?

@1 o1 ® 0 @ 2 ® -2

~&B

(x+1D)(x+2)(x+3)(x+4) -k

=(x+1)x+4)(x+2)(x+3) -k

= (x> +5x+4)(x®> +5x+6) —k

x% +5x = X2 2| gstH

() =(X+4)(X+6) -k
=X2+10X+24 -k

A A O] HHH 24 -k =25

Sok=-1







19.

i+B+ P+ i =g+ b D, a+b 2 FH2? (Ha b

A%

@0  @n ® 2 @ 3 ® 4

(F)=i-it+i-i+---+i=i0B&
i =a+bi A Haa7 A2 & 239 st a=0, b=1
Ta+b=1




20. f(x) = x2008 4 420109 | f(

1+i

~&B

)J%b— TFahd?

Lot 2 ~2i

T+i (1+i)(1-i) 2
f(l_i.) = f(~i) = (- )2008+( )2010

1+
= (=% + ()2 - (i
1+ (-1)
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1
F=
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a
2
— —98
a
(Hal2)

R 91_}3_112«/51'
a:1+\/§i,ﬂ 1 31'3}3}%
2 2

2 2
= — =1-V3i=2
@ 14+ V3i A




22.

OJZAA x2 —2x +5 =09 F T& o, 2L
ke o
2 22 22
) 2 _22 22
@ @ 5 S 25 @

ok

R =

Qw|m

Lo

=t Al5-ete] TA o osf
a+B=2, aB=5
1+£ A+ (a+pB)?-3aB(a+p)
PRIy (@B)?
8-15x2 22

25 25




23.

a>0,b>0¥ aVb = Vabol1l,a<0, b< 0¥ W, VaVb =

abolet. ol=ig 48 ol g kel o7y
528 ape Rl (vat vB2 Ol e

Ch
| — Y

>
[> pal= -5

oHd =

~&B

2
A x

Tatolat,

+3x+1=09

a+p=-3,a8=1

La<0, <0

Va - VB =-+ap

(Va + VB)? = (a+p) +2a - VB
=(@+B)-2-Vap=-3-2-1=-5




24. O|FLAHA x2 4 5(a—1)x - 24a = 09 F 2] H]7} 2

A a9 27

© -2 @—1 ® 0 @ 1

34 o,

B

5 22 o =2, B=3ketl 54
@+B=2k+3k=-5(a-1)

aff = 2k X 3k = —24a

k=1-a, k» =—-4a

a=1-k5 HYstHA
K+4(1-k)=k>-4k+4=(k-2)2=0
k=2

Soa=-1




25.

x 9]

O] ]-l:ﬂ'?%]/\] 2

>~

+(k—2)x+2+K+

k=09 %

AZLE o,

]
S, M+m

SHIL (1-0)(1-p) O MG 25342 2H2E M, molet
o] g& b2

@0  @n ®-1 @2 ® -2
a+B=2-k af=2+k>+k
C(l-a)(1-B)=1-(a+pB)+ap

=2+ 2%+1=(k+1)2 o @)

SEESLED

D= (k-22-42+k+k*) 20
3k +8k+4<0.. (3k+2)(k+2)<0
2
. —QSkS—§ ...... @
@, ©°lA

k=-19Wm=0
k=24 M=1
SM+Am=1




